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StringTest.java

01 public class StringTest {
02 public static void main(String ar#s[]) {

03 String s1 = "Hello World!";

04 String s2 = "I’m a new Java prjpgrammer!";
05 1

06 System.out.println(sl + "\n" + s2);

07 }

08 }

M

Hello World!
I'm a new Java programmer!
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@ import java.util.Scanner;

// Scanner 2ciA EE
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O Scanner 2c{AE A= et

import java.util.*; // Scanner SeiA Egt

Scanner input = new Scanner(System.in);

System.out.print("=&= /& ofA[L2: ");
O] —

String line = input.nextLine(); // ¢t &= Y=Lt
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04 public class Add2 {

// U OIAE0MFE 20l AIXECEH.

=

ot + 7Hel XIE CeiMd &

02 dimport java.util.Scanner; // Scanner Z2iA I

2I5iC}

public static void main(String args[]) {

Scanner 1input = new Scanner(System.1in);

int x; // A HM <A M
int y; // 5 B <A HE

int sum; // g= ME

System.out.print("ZHmf <=XIE USSIAI2: ")}

/] Y= 2t

x = input.nextInt(); // ARRXIZEEH A I £X}= Q=Cr}.

System.out.print("SHNf <=XIE USESIAI: ")}

/] Y= 2

y = input.nextInt(); // ARXZ2EE $ HIj X2 2=C}.

sum = x +y; // 5 il 42 oisict.

System.out.println(sum); //
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Box.java

01 +dmport java.util.x;
02
03 public class Box {

04 public static void main(String[] args) {

05 double w;

06 double h;

07 double area;

08 double perimeter;

09

10 Scanner 1input = new Scanner(System.1in);

11

12 System.out.print("ARZEQ 722 UAHSIAIR: ")
13 w = input.nextInt();

14 System.out.print ("ARIHS MZE USSIAI2: ")
15 h = dinput.nextInt();

16 area = w * h;

17 perimeter = 2.0 x (w + h);

18

19 System.out.println("ARZHHCS S0|= " + area);
20 System.out.println("ARZEO| S2|= " + perimeter);
21 }

22 }
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